Restar de Ceros (H)

10000

- 5436

10000

- 3710

10000

- 2876

10000

- 7348

10000

-4678

10000

- 8224

10000

- 3392

Halle cada diferencia.

10000 10000
-7011 - 9548
10000 10000
- 2441 - 8032
10000 10000
- 6097 - 2640
10000 10000
- 8012 - 5964
10000 10000
-120 - 400
10000 10000
- 7061 -1613
10000 10000
- 8193 -167

10000

- 7824

10000

- 4923

10000

- 1354

10000

- 9993

10000

- 5195

10000

- 5108

10000

- 5936
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Restar de Ceros (H) Respuestas

10000

- 5436

4564

10000

- 3710

6290

10000

- 2876

7124

10000

- 7348

2652

10000

-4678

5322

10000

- 8224

1776

10000

- 3392

6608

Halle cada diferencia.

10000 10000
-7011 - 9548
2989 452
10000 10000
- 2441 - 8032
7559 1968
10000 10000
- 6097 - 2640
3903 7360
10000 10000
- 8012 - 5964
1988 4036
10000 10000
-120 - 400
9880 9600
10000 10000
- 7061 -1613
2939 8387
10000 10000
- 8193 -167
1807 9833

10000

- 7824

2176

10000

- 4923

5077

10000

- 1354

8646

10000

- 9993

10000

- 5195

4805

10000

- 5108

4892

10000

- 5936

4064
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